0.5

0.5

APNALS_4EALA
=

alphal3_4eX1X:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

delta46_12X4eY:cyclenum {run == 6360}

uenaso_LsA4e Y
=
T
.
.

6051 6051.5 6052 6052.5 6053
cyclenum

alpha46_4eY4aY:cyclenum {run == 6360}

alpha46_4eY4aY
w
3
T

w
T

15

6051 6051.5 6052 6052.5 6053
cyclenum

run:cyclenum {run == 6360}

6362

3361.5

6361

3360.5

6360

3359.5

6359

3358.5

6358

6051 6051.5 6052 6052.5 6053
cyclenum

deltal3_lzx4ex

segment

deltal3_12X4eX:cyclenum {run == 6360}

o
2
I

6051 6051.5 6052 6052.5 6053
cyclenum

segment:cyclenum {run == 6360}

25

05

6051 6051.5 6052 6052.5 6053
cyclenum




-100

-100.5

-101]

-101.5

-102

52

usI_4o

51

50.5

50

usl_1X:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

usl_4eY:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

usl_say
o
(6]

-7

-36.5

=37

-37.5

usl_4aY:cyclenum {run == 6360}

1 L
6052.5 6053
cyclenum

1
6051 6051.5 6052

usl_12X:cyclenum {run == 6360}

6052.5 6053
cyclenum

6051 6051.5 6052

<764

1

:l"

S76.2
76

75.8

75.4

75.2

74.8

74.6

744

74.2F

6362

3361.5

6361

3360.5

6360

5359.5

6359

5358.5

6358

usl_4eX:cyclenum {run == 6360}

1 L
6052.5 6053
cyclenum

6051 6051.5 6052

run:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum



-120.6
-120.8F

-121F
-121.2F

-121.4F

-121.6
-121.8

-122

-122.2F
-122.4F
-122.6 F

-122.8F

- 634
b

T‘ L
5 63.2F
3

63

62.8

62.6

62.4

62.2

62

61.8

61.6F

61.4F

61.2

usr_1X:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

usr_4eY:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

-8

usr_say

-8.5

-9

-10

-40.5

-41

-41.5

usr_4aY:cyclenum {run == 6360}
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P IR PR AP AR I
6051 6051.5 6052 6052.5 6053
cyclenum
usr_12X:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

1638 F

163.6

163.4F

163.2F

163

162.8F

162.6

162.4

162.2

162

161.8F

161.6

6362

3361.5

6361

3360.5

6360

5359.5

6359

5358.5

6358

usr_4eX:cyclenum {run == 6360}

6051

6051.5

6052

6052.5

6053
cyclenum

run:cyclenum {run == 6360}

6051

6051.5

6052

6052.5

6053
cyclenum




7843.2F

17843

7842.8F
7842.6f
1842.4 F

7842.2F

17842

7841.8

7841.6

7841.4 |
7841.2F

17841

usl_caoill:cyclenum {run == 6360}

-2020

2020.5

-2021

2021.5

-2022

6051 6051.5 6052 6052.5 6053

cyclenum

usl_caoil6:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

3711.8 F

3711.6
3711.4

3711.2

3711F

3710.8

3710.6

3710.4

3710.2

3710

3709.8

3709.6

5156.5

15156

51555

15155

5154.5

usl_coil3:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

usl_coil7:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

8366

3365.5

8365

3364.5

8364

6362

3361.5

6361

3360.5

6360

5359.5

6359

5358.5

6358

usl_coil4:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

run:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum




usr_coill:cyclenum {run == 6360}

12969

2969.5

12970

2970.5

-12971f

6051 6051.5 6052 6052.5 6053

cyclenum

usr_coil6:cyclenum {run == 6360}

-2213

2213.5

-2214

2214.5

-2215

6051 6051.5 6052 6052.5 6053
cyclenum

2202.5

—-2203

2203.5

-2204

2204.5

3120.5

18120

3119.5

18119

3118.5

usr_coil3:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

usr_coil7:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

710.2F

10710

2709.8F
0709.6F
1700.4 F

709.2fF

10709

J708.8

3708.6

)708.4 F

3708.2F

10708

6362

3361.5

6361

3360.5

6360

5359.5

6359

5358.5

6358

usr_coil4:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

run:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum



1X_coill:cyclenum {run == 6360} 1X_coil3:cyclenum {run == 6360} 1X_coil7:cyclenum {run == 6360}
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6051 6051.5 6052 6052.5 6053 6051 6051.5 6052 6052.5 6053 6051 6051.5 6052 6052.5 6053
cyclenum cyclenum cyclenum

4eX_coill:cyclenum {run == 6360} 4eX_coil3:cyclenum {run == 6360} 4eX_coil7:cyclenum {run == 6360}
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6051 6051.5 6052 6052.5 6053 6051 6051.5 6052 6052.5 6053 6051 6051.5 6052 6052.5 6053
cyclenum cyclenum cyclenum



176

1755

175

1745

174

186.5

186

185.5

185

184.5

4aY_coild:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

4eY_coild:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

w
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©
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°138.6

4ay
w
©
~

w
e
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38

37.8

37.6

37.4

37.2
a7k

36.8F

36.6

-24.5

-25.5

4aY_coil6:cyclenum {run == 6360}

4aY_coil7:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

4eY_coil6:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

-10.5

4eY_coll/

-10

1
)

-7

6051 6051.5 6052 6052.5 6053
cyclenum

4eY_coil7:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum




-239

-239.5

-240

-240.5

—-241]

12X_coilé

IN

35

25

12X_coill:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

12X_coil6:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

-84.5

-85.5

-435

-435.5

-436

-436.5

-437

12X_coil3:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053

cyclenum

12X_coil7:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

»
2]

12X_coil4

3.5

25

6362

3361.5

6361

3360.5

6360

5359.5

6359

5358.5

6358

12X_coil4:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum

run:cyclenum {run == 6360}

6051 6051.5 6052 6052.5 6053
cyclenum
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